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QUESTION 1

Given default settings for an online service group and its resources, which statements are true if the resources are all
set to non-critical? (Choose two.)

A. A resource fault leads to a faulted state for the resource.

B. A resource fault leads to the service group failing over.

C. A resource fault will lead to the service group being taken offline.

D. A resource fault will leave the service group partially online.

E. A resource fault is detected and its agent\\'s offline entry point is run.

Correct Answer: AD

QUESTION 2

The VCS notifier was configured during VCS installation. Which type of resource is configured in order to start the
notification process?

A. NotifierAgent
B. Notifier

C. NotifierMngr
D. Application

Correct Answer: C

QUESTION 3

Given the following information: include "types.cf" cluster default_clus ( UserNames = { aaron = alkdsjfaldjaldfaH,
barbara = ieruhrkafhkafhake, carmen = urHkjREOHGKkajhuel, dionne = lasdjfasiLjirrljl, edward = asdlfjaielajfLKio, fung =
ElwfjsldfjaldfjaM, georgia = LIkjLriLK|rleirka }

Administrators = { aaron }

Operators = { barbara }

Counterinterval =5

)

group groupl (

SystemList ={sys1 =0, sys2=1}

AutoStartList = { sysl}
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Administrators = { carmen }
Operators = { dionne }

)

group group?2 (

SystemList ={sys2=0,sys1l=1}
AutoStartList = { sys2 }
Administrators = { edward }
Operators = { fung }

)

Which users can persistently freeze group2? (Choose two.)
A. aaron

B. barbara

C. carmen

D. edward

E. fung

F. georgia

Correct Answer: AD

QUESTION 4

What is the maximum number of levels a group dependency tree can have?
A. Two

B. Three

C. Four

D. Five

Correct Answer: D

QUESTION 5

Clusterl is being merged into Cluster2. All the appropriate network heartbeat links are in place. The merged cluster
keeps the name and ID of Cluster2. On which cluster(s) will LLT need to be restarted?
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A. Clusterl

B. Cluster2

C. Both clusters
D. Neither cluster

Correct Answer: A
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